
site

Isolation

its precipitating in chilled ethanol

at similar

gel-electrophoresis and

Electroporation,
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move through Agarose gel get towards anode under an electricfield.

so many times and the DNA fragments  

aligned towards anode under an electric field.

gel by the process known

Polymerase Chain Reaction (PCR)

nucleotides in the presence
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Repetition-

Denaturation



(GMO)
transgenic organisms-

138

Molecular
Molecular
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MULTIPLE CHOICE TYPE QUESTIONS

5.  Restriction endonucleose cut

a)  Single stranded DNA 

b)  Single stranded RNA  

c)  Double stranded DNA  

d) Double stranded RNA.

6.   Ti phasmid is obtained from

a) Azotobacter   

b)  Agrobacterium  

c)   Yeast  

d)  Rhizobium 
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7. PCR is required for

a) DNA synthesis    

b)  DNA amplification   

c)  Protein synthesis 

d) Amino acid synthesis 

8.  Restriction endo nucleases 

a) Break DNA at specific sites 

b) Create sticky ends 

c) Produce cross - overs

d) Both ‘A’ and ‘B’

9.   (I) GAATTC is recognition site for restriction endonuclease.

a)  HIND  III)      b)   ECOR I   c)   Bam I    d)   Hae III

 (ii)Assertion- DNA ligase plays important role in rDNA technology

 Reason: Linking of antibiotic resistant gene with plasmid vector became

 possible by DNA ligase. 

a) If both Assertion and Reason are true and Reason is the correct explanation of

 assertion. 

b) If both assertion and reason are true but reason if not the correct explanation of

 Assertion.

c) If assertion is true but reason is false.

d) If both assertion and reason are false.

10. Assertion : DNA fragments move to words anode in get electrophoresis.

 Reason : DNA fragments are negatively charged 

a) If both assertion and reason are true and reason is are correct explanation of

 assertion.

b) If both assertion and reason are true but reason is not the correct explanation

 of assertion.

c) If assertion is true but reason is false.

d) If both assertion and reason are false.
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12. Mr. Sunderam wants to start his business of making drugs at low cost

 developed by team researcher now, he needs to buy an instrument for his

 factory. He went to a company to purchase it. The salesman explain features of

 various types of reactors and Mr. Sunderam purchased the best.

Q.12 

I) The optimum conditions in a bio reactor are :

a) Ph, temp, nutrient supply

b) Moisture, Humidity

c) Soil, moisture, Humidity

d) Heat, Cold, Moisture

ii) Downstream processing refers to 

a) Making of rDNA 

b) Recovery and purification of biosynthetic products 

c) Preparation of hybrid DNA 

d) Testing of DNA 

iii) DNA can be separated in 

a) PVC

b) Agar - agar 

c) Agoruse gel 

d) Hydro gel 

iv) The type of bio reactors is

a) Sparged and ring type 

b) Sparged and stirred type 

c) only sparged type 

d) only stirred type 
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13.

14.

15.

16.
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17.

18.

19.

20.

21.

22.

23.
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24.
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25. A recombinant protein was formed, using the cloning vector pBR322 at the 

doing side to BamHI. However, the labels test tubes containing, 

transformants having recombinant and non-recombinant cloning vector got 

dettached accidentally. How would you differentiate between the two test 

tubes [Hints: You can use different antibiotics.]

26. While performing get electrophoresis, a student mistakenly attached wrong 

electrodes i.e., he attached the positive electrode towards the loading the 

well. Would you expect same results in the process? Why or why not?

27. 

 

 The above figure shows the result of agrarose gel electrophoresis performed 

by a student of undigested DNA fragment (lane 1) and digested DNA 

fragment. However, while drawing the above diagram, student committed a 

mistake. Identify the mistake and rectify it.

28. Given below is some information of a restriction enzyme:

 (i) Isolated form H-strain Bacillus amyloliquefacies

 (ii)  This was the 3rd restriction enzyme isolated from the said organism.

 As per convention, what should be its name?

1
2

3
4

20 35 40 56 78 100 Size of DNA in kb

–+
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SOLUTION : LESSON 11

MCQ

5.   c)      6.     b)       7.      B)        8.      D)        9.    B)       10.      B)      11.    A)

Ans 12.

I)  a  iii) c

13.

14.
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15.

16.

17.

18.

19.

20.

21.
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22.

23.

25. The test tube having recombinant DNA transformants will die on adding 

tetracycline,

26. No, the DNA bands will not be separated due to wrong electrode 

connection. DNA will not move towards negative electrode.

27. The mistake is that the loading wells have been drawn on the left side 

instead of right side.

28. Bam HIII
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